
Leg of the Stand 

1 pc

CountersunkHeadScrew
M6x50 - pcs
M6x25 - pcs

Kettlebells

10 kg, 12 kg, 16 kg, 20 kg 

one each

Leather Panel - different sizes

12 pcs

Base of the Stand with Bottom Metal Shelf 

1 pc

LIST OF KIT ELEMENTS 
LOVA Power

Metal Shelf of the Stand 

1 pc



STEP 1 STEP 2

Screw the Base to the Leg of the Stand 
with Countersunk Head Screws M6x50

KROK 2

The Stand is delivered with Leather 
Panels already on it. 

Top Shelf mounting holes are located 
under the Leather Panels placed 
upside down on the Top Shelf. 

The Leather Panels placed upside 
down need to be removed.

 Screw the Top and with 
Countersunk Screws M6x25, then 
place the removed Leather Panels in 
the right places on the Shelf.



KROK 3

KONIEC MONTAŻU

FINISHED ASSEMBLY

STEP 3

Place the Dumbbells on the Leather Panels. 

Place the Dumbbells from the lightest on the Top Stand 
Shelf, to the heaviest on the Bottom Stand Shelf


	Wykaz elementów
	Widok rysunku95
	Widok rysunku96
	Widok rysunku97
	Widok rysunku99
	Widok rysunku100
	Widok rysunku101
	Widok rysunku102
	Widok rysunku103
	Widok rysunku107
	Widok rysunku108

	1-2
	Widok rysunku3
	Widok rysunku64
	Widok rysunku66
	Widok rysunku67
	Widok rysunku71
	Widok rysunku73
	Widok rysunku104
	Widok rysunku109
	Widok rysunku110

	3-4
	Widok rysunku74
	Widok rysunku75
	Widok rysunku77
	Widok rysunku105
	Widok rysunku111
	Widok rysunku112
	Widok rysunku113




